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Topic:- Child Development & Pedagogy (CDP)

1) “Individuals are born without built-in mental content, and therefore all knowledge comes from experience or perceptlon " This notion is referred to as

. 1 ~oafa Rt et st HTRI® Wapvul & Yal 814 8, 9 THTT Wl I S U1 YO @ 3 §1” $ YR Y
wﬁﬁaﬁhﬁmm%l

1. Tabula nota / ATGH AT (Agel AleT)

2. Tabula rasa / TG AFT:FEATA (Agem Tw4m)
3. Tabula primus / FTEHA TR (T UISHH)
4. Tabula novus / FTGH FNGH (el AlaH)
Correct Answer :-

+ Tabula rasa / AT AFT:FEATT (Agem T4T)

/ el AT THTE: $o raTe? awd gid & o9 forar wTar 81

2) All learning is by-and-large successful when it is

1. Resource rich / ST HUee

2. Self-directed by the learners / Renfdat grr wa-FERa
3. Technology led / GlaTTERT a1 ﬁlﬂﬁf

4. Teacher led / TY&TH T aﬂﬁl’

Correct Answer :-

o Self-directed by the learners / et grr Ta-f[AERT

3) Which of the following is the technique of classroom management where a student displaying negative behavior is separated from the rest of the class? /

PH-MN BT YU P aH1P § gt THRIHAS AGER USRId B qTa1 U BT AT BT F (e g1 1l 82
1. Satiation technique / f¥ cehelieh
2. Extinction technique / TRTHATIA dheilch
3. Corporal punishment / MR &3
4. Time out technique / THI HHATG dehellch
Correct Answer :-

« Time out technique / THI FHTH deheilch

4) Which of the following is not true about the demonstration method of teaching? / frafafaa d @ Cact ﬁT&fUT »afafFm fAfrF IR A v Q'Eﬂ
s

1. The focus is on the demonstration of concepts through experiments/activities / STTYRON3AT &7 Ui TN/ FRaTeReTal W g BT &1
2. It can be used for a multicultural classroom /mmwiﬁﬁﬂ?ﬁUWEW%I

3. The learners gets an opportunity to participate /f‘xﬁ&iﬂﬁiﬁ‘r mﬁi‘ﬂﬁiﬁr Th mﬁm%l

4. All the topics can be covered by this method /E'Hﬁﬁ'f WFWW?WWWW%I

Correct Answer :-

« All the topics can be covered by this method /s'HﬁﬁT ERT T fawrt oY e fopar ST FehaT 1

5) A 20 year old girl's mental age is 12 years. Find her IQ. / U® 20 UTd P! ASH! B! HFIS 3T 12 I 81 P! gigatsy |



1. 100
2.125
3. 60
4. 65

Correct Answer :-

e 60

6) The condition wherein an individual loses awareness and flees his own identity is knownas____ ./ dg foufa foras ?ﬁ“{ EESKSIURSE I RG] %aT %
3R Uit T B UgAE B BIS AT B, F FU B ST AT 81

1. Shock / ATETT
2. Repression / G
3. Trauma / 3f¥emd
4. Fugues / ¥T

Correct Answer :-

« Fugues / ®JT

7) The way a person presents any information in his/her brain is an example of his/her. / fora GRS q aﬁé HfaT 3y AR § fpelt +ff s &t
TG BT 8, U8 ST (A1 BT T80T @

1. Personal characteristics / SR STARIET
2. Cognitive characteristics / G<iTcalep TTRT&TOT
3. Emotional characteristics / STIE'E[USf KBl
4. Academic characteristics / fI§T0T 31f3rerator
Correct Answer :-

« Cognitive characteristics / H<flcae 3ifReraor

8) The father of Intelligence testsis ____. / §fex UI&0N & W= |
1. Francis Galton / I IMeceT

2. James Cattell / S $heel

3. Alfred Binet / 37e%hs faa

4. Karl Pearson / &Tel fUg@ia

Correct Answer :-

« Alfred Binet / 37e%hs e

9) GDD is a developmental disability recognized in children who are ___. / Slielel o faorg ot sramar g st @ & et 21
LbelowSyrs. / 5 a¥ & B gzt A

2. age 12-14 yrs. 7 12-14 a§ &7 31g &

3.above Syrs. / 5 a§ & 3k & geai

4. above 18 yrs. / 18 ¥ & FTW

Correct Answer :-

e belowSyrs. /7 5 a¥ ¥ o gt J



If the chronological age and the mental age of the child is 15 years. He will be classified into which category? / Ifg a=a #1 FraTshia® Mg i
AARAE g 1598 ¢ @ 39 frw Ao F geffpa fran sroam?

1. Superior / 3=

2. Normal intelligence / €A g

3. Genius / gf#TRmTeT

4. Below normal intelligence / €1 qfg & &
Correct Answer :-

« Normal intelligence / HHAT g

11) According to Piaget when an infant reaches about 7-9 months of age they begin to develop what he called . REs & W, ofd Tsh fa'{l_; ot
79 A 37 aF Tguar §, @ 3 RFERT f wwra § O s e &

1. Egocentrism/ sTﬂ'\q%Fﬂ'

2. Personal fable/ ST fthatd hiedd

3. Object permanence/ d¥q TaRca

4. Inductive reasoning/ TITHATHD Ik
Correct Answer :-

+ Object permanence/ d¥q TURca

12) According to Jean Piaget, cognitive development starts at ______ stage / SiieT Ramst & AR, HARCAS Qe _ H&Eea T W) AR g 21
1. Concrete Operational / Eﬁ'-m

2. Preoperational / E@'-m

3. Formal Operational / 3toae aferarcas
4. Sensorimotor / HAGT UM (FEIAICI)

Correct Answer :-

« Sensorimotor / HAGT UMNT (HEAC)

13) According to Jean Piaget, preoperational children are/ S RIS & AN, qﬁ-aﬁmw 3T F T2 FH e
1. Egocentric/ 3Tediad (SMafega)

2. Flexible/ T (Foifererarer)

3. Complex/ STfeet

4. Social / ATHATISIR

Correct Answer :-

« Egocentric/ 31 cHbIGd (3 4 =)

14) What concept takes into account an individual’s mental and chronological ages? /

el safFa I AT R FagFERE g Fla-d@ FEuRen e F @@ 82
1. Cognitive quotient / HATATCHE HITH

2. Intelligence quotient / ¢ ol

3. Intellectual quotient / FTGeH HTITHST

4. Functionality quotient / hIATcHDAT HTIThel

Correct Answer :-

« Intelligence quotient / ¢ golfey



15) What is the term used to denote an unfavorable attitude towards members of a particular ethnic or religious group? / Rrelt Ty ST ar i g &

weHdl & uia ufaga @Y # U F v Fw weg F1 vl B s §?
1. Prejudice / U&TUT

2. Racism / SE&IdIG

3. Enmity / g%:ﬂ?ﬁ

4. Fanaticism / &h&edl

Correct Answer :-

 Prejudice / T&TUTA

16) What type of memory may be involved in carrying out complex mathematical problems?/m T FHEREET B qa N H R TR Fﬁﬁ'
wfFAfaa & d&dr 82

1. Tconic memory / GTIHT TFI=UT THIA (3MSHITAD FAR)
2. Echoic memory / Ufdtafa T@fd (vahiss HANT)

3. Working memory / Telel T (afdher FARY)

4. Sensory memory / T T (SRF AFN)

Correct Answer :-

« Working memory / Tolel Tfa (afdher Fan)

17) In big 5 model, personality types are distinguished based on /985 Atgel #, saf¥daca & yFR F IR W fRAfdrse fFr I %I
1. Culture personality / '\‘TIW%EF fthed

2. Personality traits / < ThaTd fafrear

3. Emotional intelligence / HTdh aifgerar

4. Season based/ T TUTRA

Correct Answer :-

« Personality traits / TIRRITT AT

18) In which stage of Piaget’s theory of cognitive development do children develop the concept of conservation? / et F HAWCHAF A & m}-ﬂﬂ' &

R Wor F aeat F @ F1 Reyia RAERT @ &2
1. Concrete operational stage / 3%‘[ AihaTcAd 3raem

2. Post-formal stage / UIEE-3aaTRe® 31aeam

3. Pre-operational stage / t{fj—m 3aEAr

4. Formal operational stage / Jitgare dfraTcas raer
Correct Answer :-

« Concrete operational stage / 31?‘[ HRRITcA® 3aer

19) Thorndike’s Law of Readiness is also known as: / TeiS18% & dcRdl & @97 &1 37 K & it =7 S1ar &
1. Law of Exercise / 3790180 &7 fAIaT

2. Law of Effect/ YT &1 foiara

3. Law of Action Tendency / &1 Clq% o faas

4. Law of Set or Attitude / H€ T I-H?-ﬁqﬁf Col GO

Correct Answer :-

« Law of Action Tendency / T Ugfa & foias



20) Which of these includes unhappiness when defining abnormality? / 3IUTHIAT Y IRANT FT THAT A ¥ R HTG;,'Qﬁ' AT &2
1. Danger to self/others/ Td/31 & o a1

2. Deviance/ faareret

3. Dysfunction / fa&R

4. Distress/ Q1sT

Correct Answer :-

« Distress/ U131

21) Which of the following is not an individual difference that affects learning? /

Arafaf@d & 9 sla-ar ve cwfFaea aw a8 & I 3w Fr genfa wwar ¥
1. Gender / feiar

2. Height / TS

3. Socioeconomic status / TTATToTR-3Tw FEAfY

4. Caste / STl

Correct Answer :-

e Height / ﬁ'lé;

22) Which of the following is not a part of working memory? / FFATAT@T & & i HRAT w% a1 a7t 82
1. Central executive / PaIT HIIBRY (Jegd UZFHZRIQH)

2. Phonological loop / TaR-TA=TT HEHY Urer (WiATATToThel o)

3. Episodic buffer / TTU@AIE® Tw

4. Sensory register / TAGT IfoTEe

Correct Answer :-

e Sensory register / TAGT T

23) Benchmark assessment is also known as: / SEHTh 3TehelsT &Y qg o hgl SITdT %:
1. Summative Assessment / SITcHED ITTeholel

2. Diagnostic Assessment / fAGTATCH® 3ol

3. Interim Assessment / 3/dReT 3Thele

4. Formative Assessment / TARTOTCH 3Mehelet

Correct Answer :-

« TInterim Assessment / 3TTRaT 3Teholel

24) In Erikson’s theory, the aspects individuals generally focus on developing during adolescence and then during young adulthood is called /eRwET &

fRguia #, 39 vgast # 3wk W Rrakravar ¥ i RFERT F@ W oae R B mar ¥ sk R gar aawwa F e
FgT ST gl

1. identity, basic trust/ UgdTeT, Fel T
2. identity, intimacy / UgdTel, HTcHIIAT
3. intimacy, identity / 37T, AT

4. basic trust, identity/ &l T, ugara
Correct Answer :-

« identity, intimacy / U&dTel, 3TcHIAT



25) A child-friendly learning environment shall have / T T3 & faw Hehel T aramaRer & RFT e
1. Learner discipline / forameff 3eIRmaHT

2. Learner autonomy / f&Tft &Y Tara=an

3. Linear exposure / Y& 3TATaROT

4. Teacher authority / ReTd & AR

Correct Answer :-

« Learner autonomy / T8TT2f &1 Tarradr

26) Castration anxiety occurs in which stage of psychosexual development? / AR AHRT H HlT T rawyr & degstor AT (Fre =mEd)
Bt ¥

1. Anal / T[&T (TeTel)

2. Oral / FfE® ()
3. Latency / GEAT (IH)
4. Phallic / Sifa1em (fere)

Correct Answer :-

« Phallic / o1 (wTorep)

27) Rehearsing for later relationships is called

| 9% & Real & v qateaw Fa1 S €

1. Developmental Socialization / TAPTHICHD THATSIHIOT
2. Secondary Socialization/ f§ciIIH FTSIHIOT

3. Primary Socialization/ urafdes FATSIHIOT

4. Anticipatory Socialization/ UcITRITcH® THTSIAIOT
Correct Answer :-

« Anticipatory Socialization/ TeITRMcdch HHATSI RO

28) children from disadvantaged groups are less likely to have good nutrition, access to good health care, and opportunities to
/3R THEE & el FY ST N9, I TR @I a9 g 3R & IEE FY FHEAT FA gt
gl

1. Play / Qe

2. Learn / ¥r@aY
3. Study / €IS
4. Enjoy / 379

Correct Answer :-

o Learn /@@

29) A teacher can replace the term 'Failure' in his/her feedback with / T fR1er® sra=it wiaferar A ' AqBEar Weg B UaRATAT B AHdT %-
1. lack of intelligence /g@ & P

2. Incompetency/mﬂT

3. learning disability 3TTR9TT 37873

4. emerging in Iearning/m'«"l?:l' F IR

Correct Answer :-

* emergingin Iearning/m'«"l?:l' F IR



30) One student is not able to learn in the class as his/her pet is not well. Most likely factor affecting learning is -/ T BT BEIT i | qﬁ?ﬂﬁ q1 38l %

FifP ITST UTerq U SIp -TEY 21 AT &Y guIfad #3 a1 9 WUTfad aR® 8:
1. lack exercise/ S{¥ITH o HH

2. adverse emotional condition/ Ufigrel HraeATcas Fufd

3. lack of sleep/ g, T alT

4. lack of nutrition/ TTYOT &Y 3T

Correct Answer :-

« adverse emotional condition/ Yfdigrel HTaeTeae feafa

Topic:- General English(L1GE)

1) Fillin the blank with the correct option in the given sentence:

The branch of physics that deals with living organisms is called --physics.
1. meta --

2. bi--

3. bio --

4. geo --

Correct Answer :-

2) Fillin the blank with the correct option in the given sentence:

The company responded decis-- by sending the work overseas.

1. --ion
2. —-ive
3. —-ively
4. --ous

Correct Answer :-

3) Read the passage carefully and answer the question given below:

“The Brooklyn Bridge” when it was completed in 1883, it was hailed as the eighth wonder of the world. The Brooklyn Bridge was the first bridge to be electrically lighted and the longest suspension bridge in its
day. It was built to link New York's Manhattan district and Brooklyn District across the East River. Designed by a German immigrant i called John Roebling, it took 14 years to finish, at a cost of $ 15
million and 20 lives, including Roebling's own fortune. The bridge deck measures 478.5 m across between towers that rise 82.8 m above the river. Side spans, 279 m long, connect the towers to the shore on either
side. The Brooklyn Bridge originally had carriageways, cable railway tracks and an elevated walkway. Today, there are six lanes for traffic on its 39 m wide deck with a million cars crossing daily. The cable railway
tracks were removed in 1944, but New Yorkers still stroll, bike or jog along the walkway, which was restored in 1982.

Which is hailed as the world's eighth wonder?
1. The Howrah Bridge

2. The Suez Canal

3. The Brooklyn Bridge

4. The Taj Mahal

Correct Answer :-
® The Brooklyn Bridge

4) Read the passage carefully and answer the question given below:



“The Brooklyn Bridge” when it was completed in 1883, it was hailed as the eighth wonder of the world. The Brooklyn Bridge was the first bridge to be electrically lighted and the longest suspension bridge in its
day. It was built to link New York's Manhattan district and Brooklyn District across the East River.

Designed by a German immigrant engi called John Roebling, it took 14 years to finish, at a cost of $ 15 million and 20 lives, including Roebling's own fortune. The bridge deck measures 478.5 m across between
towers that rise 82.8 m above the river. Side spans, 279 m long, connect the towers to the shore on either side. The Brooklyn Bridge originally had carriageways, cable railway tracks and an elevated walkway.
Today, there are six lanes for traffic on its 39 m wide deck with a million cars crossing daily. The cable railway tracks were removed in 1944, but New Yorkers still stroll, bike or jog along the walkway, which was
restored in 1982.

Which river does the Brooklyn Bridge stretch across?
1. Missouri

2. Mississippi

3. East River

4. Ohio

Correct Answer :-

® East River

5) Read the passage carefully and answer the question given below:

“The Brooklyn Bridge” when it was completed in 1883, it was hailed as the eighth wonder of the world. The Brooklyn Bridge was the first bridge to be electrically lighted and the longest suspension bridge in its
day. It was built to link New York's Manhattan district and Brooklyn District across the East River.

Designed by a German immigrant engineer called John Roebling, it took 14 years to finish, at a cost of $ 15 million and 20 lives, including Roebling's own fortune. The bridge deck measures 478.5 m across between
towers that rise 82.8 m above the river. Side spans, 279 m long, connect the towers to the shore on either side. The Brooklyn Bridge originally had carriageways, cable railway tracks and an elevated walkway.
Today, there are six lanes for traffic on its 39 m wide deck with a million cars crossing daily. The cable railway tracks were removed in 1944, but New Yorkers still stroll, bike or jog along the walkway, which was
restored in 1982.

When was the walkway restored?
1. 1972
2. 1962
3. 1982

4. 1952

Correct Answer :-

* 1982

6) Read the passage carefully and answer the question given below:

“The Brooklyn Bridge” when it was completed in 1883, it was hailed as the eighth wonder of the world. The Brooklyn Bridge was the first bridge to be electrically lighted and the longest suspension bridge in its
day. It was built to link New York's Manhattan district and Brooklyn District across the East River.

Designed by a German immigrant engi called John Roebling, it took 14 years to finish, at a cost of $ 15 million and 20 lives, including Roebling's own fortune. The bridge deck measures 478.5 m across between
towers that rise 82.8 m above the river. Side spans, 279 m long, connect the towers to the shore on either side. The Brooklyn Bridge originally had carriageways, cable railway tracks and an elevated walkway.
Today, there are six lanes for traffic on its 39 m wide deck with a million cars crossing daily. The cable railway tracks were removed in 1944, but New Yorkers still stroll, bike or jog along the walkway, which was
restored in 1982.

How many years did it take to build the Brooklyn Bridge?

1. 14

7) Read the passage carefully and answer the question given below:



Some people may have extra bones. There are 209 bones in the human body. Some people, however, have a few bones more while, some others have a few bones less! The commonest extra bones are those which
grow inside certain muscle tendons. These bones lead completely independent lives, unattached to other bones. These bones are called id bones. Extra id bones may grow, for example, in the tendons
under the big toe. Some sesamoid bones, however, grows in everybody. One such bone, called the pisiform bone, lies in front of the wrist. The largest sesamoid bone in the body is the patella. The patella is the
circular bone in front of the knee; it is also known as the kneecap. Extra bones may grow elsewhere, too. A few persons may have an extra pair of ribs, either above or below the usual 12 pairs of ribs. These extra
ribs may cause problems to health. For example, extra ribs growing in the neck can compress important arteries that supply to the upper limbs.

Which is the largest sesamoid bone in the human body?
1. Clavicle

2. Patella

3. Skull

4. Thigh

Correct Answer :-
e Patella

8) Read the passage carefully and answer the question given below:

Some people may have extra bones. There are 209 bones in the human body. Some people, however, have a few bones more while, some others have a few bones less! The commonest extra bones are those which
grow inside certain muscle tendons. These bones lead completely independent lives, unattached to other bones. These bones are called id bones. Extra id bones may grow, for example, in the tendons
under the big toe. Some sesamoid bones, however, grows in everybody. One such bone, called the pisiform bone, lies in front of the wrist. The largest sesamoid bone in the body is the patella. The patella is the

circular bone in front of the knee; it is also known as the kneecap. Extra bones may grow elsewhere, too. A few persons may have an extra pair of ribs, either above or below the usual 12 pairs of ribs. These extra
ribs may cause problems to health. For example, extra ribs growing in the neck can compress important arteries that supply to the upper limbs.

Where is the pisiform bone found?
1. In front of the wrist

2. Ankle

3. Ribs

4. Thigh

Correct Answer :-

e In front of the wrist

9) Which one of the following is the correct reported speech of the given sentence?
The boss said to the peon, "Bring the file.”

1. The boss was ordering the peon to bring the file.

2. The boss asked the peon, bring the file.

3. The boss ordered the peon to bring the file.

4. The boss told the peon for bringing file.

Correct Answer :-

o The boss ordered the peon to bring the file.

10) Read the passage carefully and answer the question given below:

Some people may have extra bones. There are 209 bones in the human body. Some people, however, have a few bones more while, some others have a few
bones less! The commonest extra bones are those which grow inside certain muscle tendons. These bones lead completely independent lives, unattached to
other bones. These bones are called sesamoid bones. Extra sesamoid bones may grow, for example, in the tendons under the big toe. Some sesamoid bones,
however, grows in everybody. One such bone, called the pisiform bone, lies in front of the wrist. The largest sesamoid bone in the body is the patella. The
patella is the circular bone in front of the knee; it is also known as the kneecap. Extra bones may grow elsewhere, too. A few persons may have an extra pair
of ribs, either above or below the usual 12 pairs of ribs. These extra ribs may cause problems to health. For example, extra ribs growing in the neck can
compress important arteries that supply to the upper limbs.



Where is the Patella situated?
1. In front of the knee

2. In the wrist

3. In the ankle

4. On the shoulder

Correct Answer :-

* In front of the knee

11) Read the passage carefully and answer the question given below:

Some people may have extra bones. There are 209 bones in the human body. Some people, however, have a few bones more while, some others have a few
bones less! The commonest extra bones are those which grow inside certain muscle tendons. These bones lead completely independent lives, unattached to
other bones. These bones are called sesamoid bones. Extra sesamoid bones may grow, for example, in the tendons under the big toe. Some sesamoid bones,
however, grows in everybody. One such bone, called the pisiform bone, lies in front of the wrist. The largest sesamoid bone in the body is the patella. The
patella is the circular bone in front of the knee; it is also known as the kneecap. Extra bones may grow elsewhere, too. A few persons may have an extra pair
of ribs, either above or below the usual 12 pairs of ribs. These extra ribs may cause problems to health. For example, extra ribs growing in the neck can
compress important arteries that supply to the upper limbs.

How many bones does a human being have on an average?
1. 209

2.203

3. 506

4. 200

Correct Answer :-

. 209

12) Which of the following options best combines the given sentences?

It is not a good thing. Don’t feed the animals in a zoo.

1. Itis not a good thing in a zoo, so don’t feed the animals.

2. It is not a good thing to feed the animals in a zoo.

3. Don’t feed the animals in a zoo because it is not a good thing.

4. In a zoo, it is not a good thing for feeding the animals.

Correct Answer :-

« Itis not a good thing to feed the animals in a zoo.

13) Choose appropriate articles for the given sentence:
___ stress of city life has effectson ____intellect.

1. The ... no article required

2. The ... the

3. No article required ... no article required

4. No article required ... an

Correct Answer :-
e The...the
14) Choose appropriate article for the given sentence:

She was faced with unusual problem which could not be solved easily.



4. no article

Correct Answer :-

15) Choose the appropriate option that rewrites the given sentence in its passive voice.
The intense heat caused great friction.

1. Great friction caused by the intense heat.

2. Great friction was causing the intense heat.

3. Great friction was caused by the intense heat.

4. Great friction had caused by intense heat.

Correct Answer :-
« Great friction was caused by the intense heat.

16) Choose the appropriate synonym for the highlighted word in the given sentence.

I will have to find a way to adapt myself to the new requirements.
1. surrender

2. accommodate

3. replace

4. match

Correct Answer :-
« accommodate

17) Choose the appropriate antonym for the highlighted word in the given sentence.

There are approximately 80 million people living in France.
1. precisely

2. roughly

3. under

4. over

Correct Answer :-

« precisely

18) Choose the appropriate conjunctions for the given sentence.

I am still confused ______ to run for the 100 meter’'s ______the relay.
1. whether... or

2. as...as

3. either... or

4. if... then

Correct Answer :-

« whether... or



19) Choose the appropriate determiner for the given sentence:

Although a wide variety of drugs are available to ease pain, people still fear taking them.
1. many

2. none

3. every

4. few

Correct Answer :-

20) Choose the appropriate prepositions for the given sentence:

Looking ___ the forecasts ____the world’s energy demands ____the future is pretty frightening.
1. beyond ... through ...in

2. at ... for ... for

3. at..in.. with

4.0on..at..on

Correct Answer :-

e at.. for ... for

21) Choose an appropriate modal for the given sentence:

He swim in any river as he is very capable.
1. should

2. may

3. must

4. can

Correct Answer :-

22) Choose the option that best explains the highlighted expression:
Kumar opened his heart to me.

1. shared his deepest feelings

2. abused me

3. showed his scars after a heart surgery

4. revealed his heart

Correct Answer :-

« shared his deepest feelings

23) Choose the most suitable pronoun for the given sentence:
This book is better than cover would suggest.

1. their

2. mine

3. your

4. its

Correct Answer :-



24) Read the sentence carefully and choose the option that has an error in it:

He gone to the conference to learn about government contracts.
1. to learn about

2. to the conference

3. government contracts.

4. He gone

Correct Answer :-

* Hegone

25) Choose the appropriate tenses to fill in the blanks in the given sentence:
Keval in this office for the last five years and a sincere worker.
1. has worked... is

2. has been working... is

3. working... is

4. worked... is

Correct Answer :-

* has been working... is

26) Choose the appropriate tense to fill in the blank in the given sentence:
Rashmi is a violinist. She often at concerts.
1. is playing

2. will play

3. played

4. plays

Correct Answer :-

27) Rewrite the following changing the passive sentence to active.

Every disaster affected victim has been compensated by the Kerala government.
1. The Kerala government has compensated every disaster affected victim.

2. The Kerala government have been compensating every disaster affected victim.

3. The Kerala government has been compensating every disaster affected victim.

4. The Kerala government had compensated every disaster affected victim.

Correct Answer :-

o The Kerala government has compensated every disaster affected victim.

28) Choose the right tag:

They need some new clothes & toys as well, ?
1. don’t they

2. do they



3. didn’t they

4. does they

Correct Answer :-

« don’t they

29) Choose the option that substitutes the given phrase appropriately.
Agreed to by everyone

1. Unanimous

2. Anonymous

3. Unify

4. Anon

Correct Answer :-

¢ Unanimous

30) Choose the right tag:

You remember me, ?
1. are you

2. aren't you

3. do you

4. don't you

Correct Answer :-

« don't you

Topic:- General Sanskrit(L2GS)

D mroifacds 7 T TR 2T A T -

4 P

Correct Answer :-

1. :

Correct Answer :-



aReee afdcdr Teaed Y& FEad -
U @eeyel @ T R aReER g 9Ruerafd ' 1 g8 a8 g
sfter sfa 9 FHEAA | Felad F oJ: ﬁldlu;l,oi ool HgIolH 3Tei=d,
gAY del  Usealyes  ded, ACTAATIATED faaramEe - “geug
TCTEAARYRUEHY  HeATsd, Tsd I Taedd dal eliehraaral
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Ued AT T, el deltedesd @FAda §id | vd faard #somta
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$roldQl ITd: | AR > ag{sqﬁmczi gi‘%alalwlmu{ Tole gl
3T dcue TAUIAY |

TeheT ST AEATIOT: HiRId gidel: Hoolkd THIATSINH | daTl
H>ol: o SeAUTAshl Godl, TAH 364 U9TS | od: § ode
TAAAATT - “USTeA, $oied AFdled o AR aAred | qarfa
TATATT FAAMHA -T5ARICT>d IO CAATAGATTH |$IoRToeT Starded:
gaist  giErong: | 3fd |derRud Hsel:  WIgald,  feeglisii:
facoraaEl 98 | ddt ggemadid ICERTSTATED, Haoealifaiua sfiered
JYATGE |
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L 9
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e AT T, Helo: deitedesd §eefdd” 5id | vd faurd #gsoa
TS 3y, sisl q@atcasdt faqel | dad: @rershdvr faeygel aRafd:
FHrede AT | ARG ool ACIAAE gT&HHNmHH STl glIehed,
e dcde TATIATATH |

TeheT ST AEATEIOT: HiRAd gideT: Hokd HAATATSINA | deT
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JATATT FAATTH -TodRlcd>d auIul AedAHGTITH [sToRIeie sfiddeq:
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a"amrﬁé“ar |
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AART T IR Pselare] @l aRe: ||
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IRCHIE
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o [@eyel @1| T TR aReeR g gRuefd €5 | 88 a8
et 3 O FFeEd | Faud @ o9 A e Aeeed e,
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3T dc4e TAYITAY |

TeheT S AEATIOT: HiRId gfdel: Hookd HAIATSINA | deT
Hool: G SAUMIH gcdl, dAH 3¢ UUTS | Od: @ oder
TAAAATT - “USK, oieT AFAed o AR drer | qanfa
TUTATT FUAA -T5AecT=a auIoT TraAaGATH |soRoid siterded:
S CAT 1o S P -1 B G E 20 B EC S 5 S M C O U E R
faTorAd §3@ | T4l gganfadld dcEReHRT, mﬁ&aﬁﬁﬁﬁ o e
JYATCGE |
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aReee afdcdr Teaed YEHR Faad -
U @eel @1 Tom R aReER 9o 9RuerRfd € | geE a8
et sfa g AR | Felad F oJ: ﬁldlu;j,oi ool HGIeelH 3oy,
qa>d dlel Usdail¥eh ey, ATIAAITAGY fauRamE - uedg
TCTEAARIRUEAY  HeATed, Tsd YA TATdd dal oliehiaara]
I | IUAT dTd AF Jd ToIellsld Hool: FAAT §oald | GedAT
Ued gaT I, HElel: deitedesd H@FAdd” §id | vd faurd #seda
s ey, sitel qwitcasd faqet | da: @rershdAeT faweel aRafd:
hreldQl ITd: | AR > Jg{squchzi gﬁialdlmmm ATt e,
3T dcde TAYIAY |

Tehel ST AEATIOT: HRId gfdel: Hookd HAIATSHINA | deT
H>o: o SeHAUTAhl Godl, TAIIH 364 US| Od: @ de
TAAAATT - “UST, $loied AFded o AR dred | qanfa
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ST 1 & P -1 B A E 2k B EC S I 0 S M C U E R R
facoAEr F8g | ddr ggentaafd IHTSTHIRD, Haaealifafust sfierea
JYUATCE |
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URTdE afScar 9o AGHACR JIAd -

AIGACRINee: ST a1 “HglcAT eyfaifen: qeletqdsh: uG: Irag: |
A HgarEeicy: aRaoT THYSRE: HHAdl °§ UAEEd S
EIde>gd  UTod, HAAIEARTE: WRANES: JAadl Ad Ud
clihfa#d: 3Tl T U $IRATT TIAAIT: FEGehy 3ol 3iefac|
AT e IoRId-HISAATS ToRT "UReeel AT T 3787a|
3 AT aTee:, AT T Gellars 3Rfd| Algel: T6iud: aqy 30y
HfeTss: ARG W dre@ca Aasmdt, Tcgsea:, foad, fEn srammes:,
AfgEEE, SEHAFA: T A F&T d&F  Udr  TRcisI
HATIUCHSAIhdle]  dar Al HAlgalsiT  &&@Uar @8 dF 37
Teihle=IR Uq Aredfadanr e aR@aAcdas| OERady grege o:
TACUGTH AT HEIAT AT UM Fodreededed| AN LR,
Tigllelr, Faragen, afdadr T 3Rl fafaumeaedd aRTey ggamsme
T HIgeT: SICIUSCY STHA| A, Id WT:I}?T e W—Hﬁ'ﬂ—%{luuqoﬁoﬂu
ufdardar| o 9fder dd Fawisf o Iedfadr 3reiadl dar giRe#oT
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TACATHAEATIT  SEIET AT HIUH?-ﬁ FediHcdedd| AT TIUTOTT,
Tigdllell, Hargugon, afdadr o ) fafeemeTaedq SRy ggameme
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HEASTY = o saregeried = afcd @ ||
TERMATAT faeAT IeehelsT €11 T |

372raT faegan faean aqaf = suesad ||

TSI & dfcd @ 39 @’ 3d ueH ud gadid



ool afScar srenfAfésery ueered gdcal Faad -

T o 0TI AT /1Y dfcd Id: I |
@A T o sEEgaviFd 7 3fcT I ||

ITERMATAT faeaT Ioehelel €eieT aT |
317 faezra faeam aqef = sy ||

FTar faezr ud |
, TR
| TR

Correct Answer :-
ITHRAAYTT
e D DN



aRede gfScar Jeaed AgHc] Faad -

AlGACIN e ToCiUdr a1 "HelcT Wefaier: T as: uo: Iiag: |
A FAGACRI:  GREUT  GEUSRE: Al T UADET  SUT
TOde>gd  Uead, HAGGEARTR: UANES: i8ddl 37d U9 d
SIHIIHT: TAAI T VT $TRATT TN FFUTGehY 3ol 7e7ac| T
AT Siedl ISd-FISITATS YT "IReeel AlFh TAT 3eTdd
3T AT HEFdes:, AT T Ydelldly ARd| #Alg: FTAG: IqY 3IAY
FfeAts: A Y deraca AT, dcgserd:, o, En smamees:,
ARAEE, SaeEa: I IEdl J6 d&g OUdr Toeeisad
HATCAUGHSIIhda  dar AT #AgAlsi  F&O1 #@§  dF 3ol
Toihle-IR Uq Aredf@Aar e aR@aAcdas) ey aeged o
TACAAIAEATIT HEGIET ARl IO hedecdedd| A LA,
Tegellell, |arqUgon, gfdadt I Il fafaereTsedd SRy ggaremet
T HlgeT: $IIUSCU SHNHA| IHAT, Jd AT H AMH-ACI-GIaR IS
yfdardarel T ufdem dd Taelsf o Sediodr fsadl dar giRs#oT
Uod 38 IRTEX ugdl derar IRA IcarRTead |

IMeet :Waﬁgm:mmr—craﬁaﬁ—



TRTSE afScar 9eaaEd AgAc] JAAd -

AGAGRoe: ST A "HglcAr eifafs: FaAegas: ue: ufis:|
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TACATHIEARIT HEQIET Al UM Fodeedieded| AN LI,
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Yol gfScar JefAfisesy ueaed A YA -

quIEy hol[HTEod ‘EIDU?I AT@fed AlAT: |
 UTIhdATGed 9Tg gn—c‘:ﬁ—zr TJcadd: |l

TafAE TRser dedholted gapel:

gA 3§ aikdr fAfders faei: |

T d e7afd aRal Tg Joom faeier
AATT T IR Frsear Al gl ||

HAAT: Teeldl: Telcl Fafoe |

Topic:- Mathematics (MAT)

1) If xy=1 then factorization of x+y+2is: /
T xy=1 7 x+y+2 FTIOA &:

1. (x+1)(y+1)

2. (x+1)(y-1)

3. (x-D(y+1)

4. (x-1(y-1)

Correct Answer :-

o (xt1)(y+l)

2) Match the following:-

i. 1 added to x a) -5q

ii. 8 subtracted from p b)x+1
iii. -5 multiplied by q cp-8/
fFrafafEa o1 firem o%:-

i. x ® 1 SieAT a) -5q

ii. p 9 8 HEFT b)x+1

iii. -5 BT q § M BT cp-8

1.i—b,ii—a,iii—c



2.i—b,ii—c,iii—a
3.i—c¢,ii—a,iii—b
4.i—c,ii—b,iii—a
Correct Answer :-

e i—b,ii—c,iii—a

3) All round development of a child is reflected through ./

TP g9 $T Farfor e ¥ urery |yt g 81
1. Anecdotal record / q}ﬂ?—f (¥asied) 3™

2. Case study record / SIRRIT 3TA (FH T3 3ifFerg

3. Cumulative record / Fait 31f¥erE

4. Scholastic record / QYf&¥ep 31feRg

Correct Answer :-

« Cumulative record / §aY 31forE

4) In aright angled triangle the square of the hypotenuse is twice the product of the other two sides. Find one of the angles of the triangle. /

TP TSI Byt & Hof &1 @ 3o &t YSII3it P Urer BT AT 81 Byw & Hioil & A ¢ g a3

5) Who among the four is not a non-Euclidean? /
TR ¥ A P19 Th R-gfFarsy T81 82

1. Renaissance / EflTrlf"ITUT (ﬁem?-[)

2. Bolyai / SeaTs

3. Lobachevsky / Sereredeht

4. Enclid / TAfeFels

Correct Answer :-

« Enclid / TaFers

6) If two cubes each of edge 10 cm are joined end to end, then the surface area of the resulting cuboidis ______ ./
10 It AR 91 &) ¥ wdw RRY @ 93 €, ot uRomdt oy &1 gffg dvwe R
1. 1500 sq cm /

1500 Tt &

N

. 1000 sq cm /
1000 @t {

w

.500sqcm /
500 o7 FHT

N

. 750 sq cm /



750 a3t {ar

Correct Answer :-

e 1000 sqcm /

1000 Tt [l

7) 1f the mean of *v' ¥ 2% is 4, then the mean of 204,200,223 is___./
-qﬁxpxz:xa: .............. me"_%,?ﬁle:zxz:zxa ............. WTIT'EIT_%I

1.2

2.4

3.8

4.6

Correct Answer :-

8) What is the number of the diagonals we can draw from one vertex of a polygon with 11 sides? /
11 Y3} 919 TgYT F T N A g e el Rt w w@d 72

1.8

2.10

3.9

4.7

Correct Answer :-

9) Which of the following statements is NOT true about whole number? /
frafafEa 3 @ gl Wensl & Ty § SH-1 $Y= T T8 82
1. 0 is a counting number but not a natural number. /
0 TS VAT AT FEAT §, Afthed Th Ul HEAT ¢ §
2. The whole number 0 doesn’t have any predecessor. /
o FE 0 P i Fwr A A B
3. The additive identity of all natural numbers is a whole number. /
Ty Tpd TEAT3T M DeNeAT FHATIAT TH qUT FEAT @
4. The predecessor of the first two digit number is always a single digit number. /
U @l 3epl AT T f qdad! HEAT §HT T b HEA AT B
Correct Answer :-
« 0 is a counting number but not a natural number. /
0 TS VAT AT FEAT §, Afched Th Ul HEAT ¢ §

10) Which one of the following statements is true about integer? /
Pt & @ S9-91 $y= quiie & day § T 82
1. On dividing a negative integer by a negative integer we get a negative integer. /
U BT YUl 1 T FBUHD QU1 F FIHTRI B3 TR 8 UMD qulieh UTed Biell &
2. On subtracting a negative integer from a positive integer we get a positive integer. /
T GATcHT qUITh & TH HONcHS QUIh Bl Tl W & U Uelleareh Yoiidh urd alem &1

3. When a positive integer and negative integer is added we get a negative integer. /



SIq U UeAlcHS QUiich 3R FHOTeasd quiies &1 Sligr Sm & A g HUTcAs Ul UTd B |
4. On multiplying a negative integer with a positive integer we get a positive integer. /

T KUNCHS QUIc & AU Th YACHD YOl P IOT N W g YeAlcHd QUi Ui eelm &
Correct Answer :-
¢ On subtracting a negative integer from a positive integer we get a positive integer. /

T YATCHS QUITh d Uk HUMcHA® QUi & Teld W & Th UaATcHS YUl uid @ §

11) Which one of the following statements is correct about number? /
Fafafea & § $19-91 $Y= §B1 & 99y § 97 2
1. Nine is a prime number. /
At w 3Tew e ¥
2. There are only 9 prime numbers below 20. /
20 @ A Haer 9 HATT FEATT B
3. Every number is a multiple and factor of itself. /
TP HEAT TG H TH 0 3R ged Bl ¥
4. Number of multiples of a given number are finite. /
& 7 e & et B wEA A e B
Correct Answer :-
« Every number is a multiple and factor of itself. /
TP HEAT T H TH 0 IR ged Bl E

12) A train covers a certain distance at a uniform speed. If the train had been 5 km/hr faster it would have taken 1 hour less than the scheduled time. And if
the train had been slower by 20 km/hr, it would have taken 6 hours more than the scheduled time. Then the distance covered by the trainis: /

T 3 T A 91d & Fad! g3 U Fifda gft ag st 31 afg 39 5 fefty/der a9 ara @ gadt @ @ g8 Frufia a9g @ 1 ger w0 Ad @ oi7 afg 3 20 fri/er ot
wﬁﬁaﬂ?ﬁ%a‘rﬁﬂfﬁawﬁsﬂ%aﬁﬁﬁ?ﬁ% A grraa A T g

1.2240 km /

2240 fopatr

N

.2000 km /
2000 foralY

w

. 1050 km /
1050 fopafy

BN

. 1080 km /
1080 fomat

Correct Answer :-

e 1050 km 7
1050 ferelt
13)
In the given figure, if 2C=40°, then A and £Bare:
B
A 8

& @i wmefa &, afy 2C=40° &, LA £BE:

500,90°



100°.40°

40°,100°
3.

902,500
4.

Correct Answer :-

40°.100°
14) In a circle centred at “A°, the angle between AB and AD is 80° where points B and D lie on the
circle. If C lies outside the circle and CB and CD are the two tangents , then the value of angle
BCDis cll
A &g 91 U ged A, AB UF AD & &1 Sl FI0T 80° §, S8l fdg B d D ged W
feug §1 I C gca & awg # g § d2r B 3k cD & wwdva@r §. ar &1 BCD
& AT 21
110¢
1.
100e
2.
1208
3.
4. oL

Correct Answer :-

100°

15) AABC is an isosceles triangle in which AB = AC. Pis a point inside the AABC such that
APBC( is an equilateral triangle If £4 = 30°then find ZABP.

AABC U GHCAeTg Bt & [0 AB = AC §1 A4BCE 30eR UF g P 59 ORE &
& APBC Ue GHETg BRI Bl 91 24 =30°%, A1 £4ABP WA &I

4.

16) 14 ADEF 2D=60°F=50° then /
ADEF#, £D=60° £F=50°ar;

1. FE>DF>DE

2. DE=FE=FD

3. DE<DF<EF

4. DE<FE<DF

Correct Answer :-



« DE<FE<DF

17) If the sum of the squares of zeroes of polynomial 6x2 + x + k is g ,then the value of kis_ .

A TGUE 6x7 +x+k & YA & gott @1 AT = A kaw A B

3.2

4.3

Correct Answer :-

. 2

18) e :
:Fmdthevalueof'x‘+;whenx_;=2_
FE x—= =28, @ x*+ & A AT W

1.2

2.8

3.6

4.4

Correct Answer :-

19) Ifthe tangents PA and PB from a point P to a circle with centre O are inclined to each other at an
angle of 80°, then £POA=__ .

afE v g P & UF “O" &g arell UF ded & & T997 {@T PA dr PB UagEY &
80° & @lvT WX e §, af zPoA= |

80°

The average temperature of Monday, Tuesday and Wednesday was 40°C. The average
temperature of Tuesday, Wednesday and Thursday was 41°C. If the temperature on Thursday
was 42°C, what was the temperature on Monday?

HIAGR, @GR Ud gUaR &1 3ad argaAre 40°C 47| FHITR, §9aR Ud &R &1
3iea AgATT 41°C o IfE IFER FT AOATA 42°C of, A HAAR &1 dT9AT fehcte]
aqr?

41°C

e}
5. 38°C



40°C
3.

39°C
4.

Correct Answer :-
39°C

Find £A + 2D & 2B+ £C of a cvclic quadrilateral ABCD in which
tA=3x-1 sB=v2 sC=2y+6&sD=5x+7. [

U TR TGt ABCDH LA +/DUE £B+.C A1d &,
Srd £A=3x-1. sB=v2, +C=2y+60d +D=5x+7 Bl

206°, 154°
200°, 160°
175°,185°

168°, 192°
4.

Correct Answer :-
206°, 154°

22) Ap exterior angle of a triangle is 135° and its two interior opposite
angles are equal. Each of these equal angle is:

wE B &1 9 For 135° § T 56 & 3 §EHE ST
AR 1 51 ¥ U HIT &

47 %0

Correct Answer :-
67 a°

23)
Find the value of x in the given figure.

0 50/°\23
B C

A
/&Y I HFT A x FT AT AT F

130°
1.

85°
2.



110°
3.

aQ®
4,

Correct Answer :-
85°

24) i, Lils 2.8 2
The property that allows to calculate 3% —) + (— X —) =3 is f

11 3 11
ar e amaer g5 (Ex2) + (Ex2) =1 & aoren iy st 2ar @

1. Associative property /
wrgef T

2. Distributive property /
farror gor

3. Closure property /
e 0

4. Commutative property /
spAfafaA aor

Correct Answer :-

« Distributive property /
ferror o1

25)
In AABC, £C = 90°, BC=AC=3y2,then AB=___ [

AABC #. 2C=90° ,BC=AC=3/2,dTAB=___
1.5
2.7

3.8

4.6

Correct Answer :-

¢ 6
26) - 2 2
In a quadrilateral ABCD, £A+ £Cis two times £B+2D_If
£A=140° and £ D=60° _ then £C=7
TF TGS ABCDH, £A +£C, £B + 2D T R ¢
afg £A=140°3R £ D=60°ar .C=?
1 60°
100°
2.
80°
3.
120°
4,

Correct Answer :-

100°



27
) Geetha had Rs 600 She spendsi of her money on note- books, é of the remainder on

stationary items and % of the remainder on cosmetics. How much money is left with her?
Mar & 91 600 F9Y | §F AegH W TS K F - dEd T R A v 2 3R
WWW&WH%@#W%I I0F 9 Bradr UfEr 9w = 87

—

. Rs 120/

120 ?UT

N

. Rs 200/

200 Tqu

w

. Rs 300/

300 TUT

S

. Rs 320/

320 %00

Correct Answer :-

e Rs200/

28) Choose the number not divisible by 11. /
11 & v =18 g1 areft W &1 797 B

1. 1230321

2. 50169306

3.902154

4. 6138165

Correct Answer :-

1230321

29) Find the sum of perimeters of an equilateral triangle and a regular pentagon whose both side is 4 cm. /
T aaTg Yw R v Hafira vays &Y ol @1 9 gma o3, Reet S Yot 4 3 §)
1.32cm /

32 T

N

.252cm /

252 T

w

.36cm /
36 QA
4.62cm /

62 [
Correct Answer :-
« 32cm /

32 QA

30) Find the perimeter of the triangle whose sides are 4 meter, 5 meter and 60 cm. /
By o1 uRkaTy 3 o, SRrat Y=g 4 Wiex, 5 Hew 3w 60 A F
1. 69 meter /

69 X

2. 9.6 meter /



9.6 HIeX
3. 3600 meter /

3600 X
4. 6.9 meter /

6.9 X
Correct Answer :-
* 9.6 meter /

9.6 #HIX

31) ABCD is a parallelogram and the midpoint of the sides of ABCD are joined to form another parallelogram PQRS. If the area of PQRS is 20 cm?, then the
area of ABCD is ./

ABcoézmmmagﬁa%amABco%weﬁﬂmwﬁgﬁwwsmmmagsja PQRS &1 frafur %3t 81 i PQRS 1 &wrer 20 A2 B, &1 ABCD &1 &wd
I

1.80 cm? / 80 W2
2.40 cm? / 40 T2
3.100 cm? / 100 d2
4.1600 cm? / 1600 W2
Correct Answer :-

« 40 cm? / 40 T2

32) Anumeralisthe ____. /

wEeld gl

1. position of an element in a sequence / U@ 3{IhH T U dd I RUfA

2. symbol to represent a number / Tch TET & gfafafca &1 udie

3. cardinality of a set / Teh Hd=<d B g Qdl
4. none of the above/mﬁﬁaﬁéﬂﬁ

Correct Answer :-

. symbol to represent a number / Tep T&IT & fafAtAca &1 g

33) There are 100 cookies in a packet. If there is ‘m’ packets, then total cookies can be written as: /
TF Ade F 100 FHIW &1 Al FeT B IS 'm’ B, o PN P a1 IS BV FRizaT I Fepell :
@
1.
2. 100m
3.100 + m
4. 100-m
Correct Answer :-

« 100m

34) Algebra is al-gebra =al-jebr wa'almuqabala. The translation of equivalent words of aljebr and wa’al muqabala is. and , respectively. /

R Algebra, al-gebra =al-jebr wa’almuqabala gl aljebr 3R wa‘al muqabala * qaq Tea! BT 3dlg 3R gl

1. restoration , reduction / eI : ¥ITUA, TTd



2. restoration , challenging / el : ¥UTTA, ﬂ?ﬁ?ﬁ'

3. restoration , proving / ROEIECE &g T

4. balancing, solving / Sge, FHIYUM

Correct Answer :-

« restoration , reduction / eI : ¥ITUA, BT

35) ‘Gitika’ by Aryabhata is a collection of: /

g gRIwega Mifter __ #1uw wue B
1. Kalakiya — Work on time and measure / PIATRAT-TAT 3T AU T HrT
2. Problems on Arithmetic / 3{RaTOTT W FHAEATT

3. Gola (Sphere) / 9T (37G)

4. Astronomical tables / @ISl dTforhTd

Correct Answer :-

« Astronomical tables / @I dTfereprd

36) Micro Teaching technique was brought to India by
& T (A1) AR doie, yRa o FREERERIT
1. Atkinson / Tefehaet

2. BK . Passi /&3, grEY

3. Allen / Told
4. Anderson / Us{Hd

Correct Answer :-

« BK.Passi/d).%. arel

37) Unit plan for teaching mathematics is done in the ./
wifore Rraror & g g@1S drern H 3t oIt 1

1. post-instructional phase / W-Hﬂa’?m TOT

2. pre-instructional phase / d’r-aﬁé?m TOT

3. teaching-learning phase / fIGTOT-31f9Td TROT

4. evaluation phase / W TIIOT

Correct Answer :-

o pre-instructional phase / d‘r-sﬁa‘?m TOT

38) Thorndike's ‘Law of Readiness’ is made use of in the / m‘f@'ﬁ-ﬁ? & ARl D1 fAga’ 1 IuanT ¥ T ST %I
1. Unit Plan / STS TIoHT

2. Lesson Plan / UTS TSTell

3. Home Work / 9[& &1

4. Preparation of objectives / 3831 6T IR

Correct Answer :-

« Lesson Plan / UTS Jriall

39) 2x+3y=10 has: /

2x+3y=10 #T:



1. No solution /
PE Tl G
2. A unique solution /
e A T R
3. Only two solutions /
el a1 &l &
4. Infinitely many solutions /
I T H TS A T
Correct Answer :-
« Infinitely many solutions /
3Ed ®T A B gl &l

40) Mensuration integrated with geometry makes drawing of regular shapes introduced to children in four ways -
1.aesthetic

2. approximation

3.comprehensive

4. association

This is known as .

safaeh & wry wafkhd fafafa @ fafaa srpfaat & @i qem st s=at & faw ar alel & vwqaq ge -
1. gefet

2, gierdest

3. 9%

4, ggad

W_ FWAAGIACRI

1. Technique of approximation / feeeheet & deheileh

2. Technique of mathematization / ITTOTCERROT &Y AheATh

3. Technique of quantization / TRFATONHIOT &Y Tehetlch

4. Technique of ideation / TROT T AR

Correct Answer :-

« Technique of quantization / TRATUTROT T dheireh

41) Choose the pair that is not twin prime. /
3 LI B AIA FN N UGFS 3T A ¥
1. (91, 93)
2. (59, 61)
3. (41,43)
4. (101, 103)
Correct Answer :-
« (91,93)
42) If PQ and RS are two equal and parallel chords, the distance from centre to PQ is 5 cm, then the distance between PQ and RS is: /
afy PQ 3 RS & awrey 3t woAiaR Sfiar &, F & PQ #r gt 5@+ &, @ PQ 3k RS & o v gt fooer #:
1.10cm/
10 T

2.25cm/



25 9
3.2.5cm/

2.5 7
4.5cm/

5
Correct Answer :-
e 10cm/

10 |

43) Which of the following formula holds good for zeros of a quadratic polynomial? /
frafafea # & w7 @97 SRE Tgue F 5T F 9@ T § aRenfa Fwar 82
1. Product of zeros = coefficient of x/constant term /
YR HT M= x BT 0N/ 3R UG
2. Product of zeros = Constant term/coefficient of x /
A BT U= 3R UG/ x BT 0lh
3. Sum of zeros = -(Coefficient of xz)/coefﬁcient of x/
A BT ART=-( x2 P I[UIP)/ x HT 0P
4. Sum of zeros = -(Coefficient of x)/coefficient of X2/
A BT GNT=-( x T UTieh)/ x2 T [l
Correct Answer :-

« Sum of zeros = -(Coefficient of x)/coefficient of X2/
A 1 ANT=~( x BT 7))/ x2 BT ol
44) Pythagoras established the order called ./
TBYRIRT & _ A AT F via R
1. Figurative numbers / 3TTolepT e F&T
2. Brotherhood / EESGE)
3. Pythagoreans / GTS IR
4. Mathematics / ITfOTT

Correct Answer :-

o Pythagoreans / GTSYUTIIRY

45) Vedanga jyotisha in astronomy was compiled in 1200BC by i

gaer e # dgior ST #1200 S G A garr dwfoa B awm am
1. Aryabhatta / 3-]1'&3-1?.:2’

2. Sulbakar / FedTehl

3. Bandyama / §g

4. Lagadha / e1amar

Correct Answer :-

« Lagadha /eamdr

46) The length of the arc of a sector is 22 cm and the area of the sector is 231 sq cm then the angle of the sector is: /

UH @3 & 99 7 aarg 22 F 3k @3 FT Au%a 231 g A &, @ @3 w1 Hor T



90°

Correct Answer :-
600

47) The perimeter of two circles are in the ratio 2:3, then the ratio of their areasis_ ./
& et 1 R F7 I 2:3 §, A 3AF AABA F eI ?

1.2:3

2.4:9

3.3:2

4.9:4

Correct Answer :-

48) A, B, C and D are positioned at (12, 2), (16, 4), (18, 8) and (2a, 6). If the points are joined a rectangle ABCD is formed, find D’s position. /
A,B,C Td D (12,2), (16, 4), (18, 8) Ta (2a, 6) W Rya §| af Regat # Bremar snv &t v 3maa ABCD &= airem &, @ D & Rufy ama #:3
1. (14, 6)
2.(13,6)
3. (11, 6)

4. (12, 6)

Correct Answer :-

49) One of the objectives stated below is not measurable and that is: /

M RUIT A f v wamdg adid skaw ¥

1. To develop critical thinking, / 3T Ride @1 fawfAd ot & fow

2. To identify their shapes in the nature. /W F 3T H’@ﬁﬁf $r ggdTed R F fow
3. To illustrate equal sets / HHTA H’ﬂ'ﬁ?ff fI e Fa & o

4. To recognize rational numbers. / THEIT &I T Ugad #a & forw

Correct Answer :-

« To develop critical thinking. / TTee Rider @ g &= & fow

50) Which of the following is an open-ended question? /
farafaf@a # & sl o AvT-Ss A d?
1. Anusha has a total of 50 Rupees. What are the possible denominations she can have? / 3{JST % U 1 50 Flﬁ

g1 3T U JUIfad Tt o1 8 I 62

2. Area of a square is 400 cm?2. What are the possible values for the side of the square? / T g3t &7 YThel 400 T2 gl qafr SleTéﬁ
fore genfadg s Far g2



3. Prove that the square of an even numbers is even. /ﬁaaﬁﬁﬁmm&ﬁwaﬂ‘rwm%
4. State Pythagoras theorem / UTSUTITIH AT Pl g7 |

Correct Answer :-

- Anusha has a total of 50 Rupees. What are the possible denominations she can have? / 3{JST > U $d 50 0

g1 IUP U JuIfad T o1 8 I 62

51) Which of the following is not under remembering objective? /
fArafaf@a # & Fia TRl Rva & srasia a8 smar &

1. Measures accurately / AT HATY hIT

2. None of the above /suﬂ?ﬁﬁﬁaﬁéa?r

3. Recall term / THRONT Qreg;

4. Recognizes formula /lﬁtl%?-ﬂo_-l?ﬂ

Correct Answer :-
. Measures accurately / AT AU hIA

52) ‘Mathematics is the mirror of civilization’ was stated by: /

AT HIIAT FTEUUT g1’ $oAh GIRT Fgl IAT:

1. Newton / =gcel
2. Euclid / JfFers
3. Hogben / T
4. Plato / ToleY

Correct Answer :-

. Hogben / T

53) Choose the correct statement about integers. /
il & v & 7@ Fu F1 997 F
1. Subtraction is commutative for integers /
Hera guife & fore fafma=ia g 31
2. Addition is associative for all integers /
o @t QUi & e e g B
3. Division is associative for all integers except 0 /
fasrs 0 @ Sisaw Tl goiiet & o wead @ §
4. Whole number are closed under addition & subtraction /
Ut FaT A AN e & saa es e ¥
Correct Answer :-

« Addition is associative for all integers /

T @ quitet & R aeh g

54) Which one of the following statements is true about power/exponent? /

frrafiafad # ¥ S9-91 $YF 9/ 9die & J9Y & T 82



.In 102, 10 is the power and 2 the exponent /

—

102 3,10 °1d 3R 2 Odd §
2. (5a)° = 5a°

. 10000 is the exponential form of 10* /

w

10000, 10* &7 TIdH FT &

D

. 216 is the third power of 6 /
216, 6 &7 AR T &

Correct Answer :-

e 216 is the third power of 6 /

216, 6 &7 G T &

55) Which of the following is the multiplicative identity in the set of whole numbers? /
Fafafea & @ Si=-a1 guf wemnsit & aqw & uners FHETdar 8?2
11
2. All whole numbers /
Toft qoi FEad
3.0

4. -1

Correct Answer :-

56) What will be the sign of the product if we multiply together:
1. 9 negative integers and 4 positive integers

2. 5 negative integers and 5 positive integers

3. 4 negative integers and 7 positive integers

4. 8 negative integers and 5 positive integers

5. (-3), 2n times, n is a natural number. /

gfe g9 38 SITuw § o 7 § A [UHsd F1 g Fan g
1. 9 BUTHS YUIics 3R 4 YATHS YuIich

2.5 BUTHS YUl 3R 5 YATHS YuIics

3. 4 BUTHS QUITH 3R 7 Y-THS QIS

4. 8 BUTHS YUITH 3R 5 Y-THS QIS

(-3), 2n SR, n TS UIHd IS gl

1. i — positive, ii — negative, iii — negative, iv — positive, v —negative /

i — YATHD, i — BUMHD, iii — BUTHAD, iv — YATHD, v — BUTHD
2. i — positive, ii — negative, iii — negative, iv — positive, v — positive /
i — YT, ii — BUTAD, iii — BUTHD, iv — YATHD, v — SIS
3. i — negative, ii — negative, iii — positive, iv — positive, v —positive /
i — BUMHSD, ii — BUNHD, iii — YTHD, iv — YATHD, v — SIS

4. i — negative, ii — negative, iii — negative, iv — positive, v —positive /

i = BUMHD, ii — BUMTHD, iii — BUNHD, iv — YATHD, v — YTHD

Correct Answer :-

« i—negative, ii — negative, iii — positive, iv — positive, v —positive /



i — BUTHAD, ii — BUTHD, iii — YAIHD, iv — YATHD, v — YATHD

57) Express 15625 as a power of 5. / 5 & °Id U H 15625 & o9ad ®1|

1. 4°

58) When N is a set of all natural numbers, W the set of all whole numbers, Z the set of all real numbers, then which of the following is true?/
gfe N Wt wrpa wensi &1 te =y 7, w it quifel 1 e 7 |, z 3t arafde semnsit o1 ay=y 8, 9f i § @ e9-ar 9w 82

RcZcWcN
1.

WCNcRcZ
2.

NcZcWcR
3.

NcWcZcR
4.

Correct Answer :-
NcWcZcR

59) A(3,5) and B(-3,5) are the end points of the diameter of a circle. Find the centre of the circle. /
A(3,5) Td B(-3,5) UF 99 & o & Sifaw g &1 39 &1 Fx 319 w31

1. (5,0)

2. (6,5)

3.(3,0)

4. (0,5)

Correct Answer :-

60) If one zero of the quadratic polynomial is xA2+3x+k is 2, then the value of k= ./

e f3uTd 9gUQ x~ 2+ 3x+k BT TP YAF 2 7, A k BT AM = I

1 —10

V10

3.10

4.5

Correct Answer :-



